
A

C

B

CODE TECNICAL INFO FUSELAGE 
TYPE

SCREW 
KIT

SCREW 
A

SCREW 
B

SCREW 
C

SCREW 
TORQUE

LEVIATHAN

WL950
Front Wing 950

1300 cm2 - AR 6,68
T8 MH163 M8x35 M8x40 M8x35 25 Nm

WL1150
Front Wing 1150

1580 cm2 - AR 8,37
T8 MH163 M8x35 M8x40 M8x35 25 Nm

WL1350
Front Wing 1350

1870 cm2 - AR 9,75
T8 MH163 M8x35 M8x40 M8x35 25 Nm

WL1550
Front Wing 1550

2140 cm2 - AR 11,3
T8 MH163 M8x35 M8x40 M8x35 25 Nm

WL1750
Front Wing 1750

2400 cm2 - AR 12,7
T8 MH163 M8x35 M8x40 M8x35 25 Nm

MEDUSA

WM699
Front Wing 699

880 cm2 - AR 5,75
T8 MH134 M8x30 M8x35 M8x30 25 Nm

WM799
Front Wing 799

1100 cm2 - AR 5,8
T8 MH134 M8x30 M8x35 M8x30 25 Nm

WM899
Front Wing 899

1383 cm2 - AR 5,8
T8 MH135 M8x35 M8x35 M8x30 25 Nm

WM999
Front Wing 999

1747 cm2 - AR 5,71
T8 MH135 M8x35 M8x35 M8x30 25 Nm

ONDA

WO730
Front Wing 730

1050 cm2 - AR 5,00
T8 MH135 M8x35 M8x35 M8x30 25 Nm

WO835
Front Wing 835

926 cm2 - AR 7,53
T8 MH133 M8x30 M8x30 M8x30 25 Nm

WO940
Front Wing 940

1100 cm2 - AR 8,00
T8 MH133 M8x30 M8x30 M8x30 25 Nm

WO945
Front Wing 945

1300 cm2 - AR 6,90
T8 MH133 M8x30 M8x30 M8x30 25 Nm



CODE TECNICAL INFO FUSELAGE 
TYPE

SCREW 
KIT

SCREW 
A

SCREW 
B

SCREW 
C

SCREW 
TORQUE

BLADE

WB671
Front Wing 671

570 cm2 - AR 7,80
T6 MH130 M6x25 M6x25 M6x20 11 Nm

WB740
Front Wing 740

702 cm2 - AR 8,34
T6 MH118 M6x20 M6x25 M6x20 11 Nm

WB800
Front Wing 800

840 cm2 - AR 7,60
T6 MH130 M6x25 M6x25 M6x20 11 Nm

WB1000
Front Wing 1000

987 cm2 - AR 10,10
T6 MH130 M6x25 M6x25 M6x20 11 Nm

RAZOR

WR680
Front Wing 680

550 cm2 - AR 8,40
T6 MH161 M6x25 M6x30 M6x25 11 Nm

WR780
Front Wing 780

631 cm2 - AR 9,64
T6 MH161 M6x25 M6x30 M6x25 11 Nm

WR820
Front Wing 820

746 cm2 - AR 8,84
T6 MH161 M6x25 M6x30 M6x25 11 Nm

WR880
Front Wing 880

843 cm2 - AR 9,20
T6 MH161 M6x25 M6x30 M6x25 11 Nm

WR980
Front Wing 980

938 cm2 - AR 10,23
T6 MH161 M6x25 M6x30 M6x25 11 Nm

TORTUGA

WT633
Front Wing 633

1250 cm2 - AR 3,3
T8 MH123 M8x35 M8x35 M8x35 25 Nm

WT790
Front Wing 790

1550 cm2 - AR 4,3
T8 MH134 M8x30 M8x35 M8x30 25 Nm

WT1100
Front Wing 1100

2100 cm2 - AR 5,7
T8 MH134 M8x30 M8x35 M8x30 25 Nm

WT1250
Front Wing 1250

2400 cm2 - AR 6,5
T8 MH134 M8x30 M8x35 M8x30 25 Nm

CERTIFIED FRONT WINGS

W590Y
Front Wing 590Y
650 cm2 - AR 5,2

T6 MH118 M6x20 M6x25 M6x20 11 Nm

W670
Front Wing 670
570 cm2 - AR 7,8

FKR604 
ONLY MH117 M6x20 M6x20 M6x16 11 Nm


